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B /K R 6:59 6:35 9:36 13:03 12:28 5:17 5:34 5:49 6:07 6:20
R C 26.0 25.0 27.0 29.0 29.0 24.0 24.0 24.0 24.0 24.0
KR °C 22.7 26.5 22.2 27.9 28.1 25.6 26.7 22.6 20.5 21.5
TVFEVRUEDIEE me/ [< 0.002 [ < 0.002 [< 0.002 [< 0.002 [< 0.002 [ < 0.002 [< 0.002 [< 0.002 [< 0.002 [ < 0.002 | < 0.02
DIV RUVFDIEEY mg/l |< 0.0002 [<  0.0002 |< 0.0002 |<  0.0002 |< 0.0002 |[<  0.0002 |< 0.0002 |[<  0.0002 |< 0.0002 |[<  0.0002 | < 0.002
YNV RUZFDIEEY mg/l |< 0.002 < 0.002 [ < 0.002 < 0.002 | < 0.002 < 0.002 | < 0.002 < 0.002 [< 0.002 < 0.002 | < 0.02
1,2-Y"hOAT4Y mg/l |< 0.0004 [<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 |[<  0.0004 | < 0.004
MLIY mg/l |< 0.04 |< 0.04 < 0.04 |< 0.04 | < 0.04 |< 0.04 | < 0.04 |< 0.04 | < 0.04 |< 0.04| < 0.4
F4NEEY (2-TFIAFYIL) mg/l |< 0.008 [ < 0.008 | < 0.008 [< 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 | < 0.08
v ynn7 b= mg/l |< 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 | < 0.01
#ky05-1 mg/l |< 0.002 < 0.002 [ < 0.002 < 0.002 [ < 0.002 < 0.002 | < 0.002 < 0.002 [ < 0.002 < 0.002 | < 0.02
WER o B mg/| 15 3.5 7.9 2.6 4.4 16]< 2.6 17 17 8.8] < 20
1,1,1-k)y0014Y mg/l |< 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 | < 0.03 |< 0.03 |< 0.03 |< 0.03] < 0.3
ML-t-7FLI-FTIMMTBE) mg/l |< 0.002 < 0.002 [ < 0.002 < 0.002 [ < 0.002 < 0.002 [ < 0.002 < 0.002 [ < 0.002 < 0.002 | < 0.02
HMEGEN VB ILAER  mg/l 0.9 0.6 0.6 0.9 0.9 1.5 2.8 2.5 0.6 25| < 3
RKEETON) — 1 1 1 1 1 1 1 2 1 2| < 3
BEMGU TR — -2.2 -2.0 -1.7 -2.2 -2.1 -3.0 -3.0 -1.9 -2.6 23| < -1~0
REXEME {&/ml 1 0 92 0 0 2 110 0 0 360 | < 2000
1.1-4"hORIFLY mg/l | < 0.01 |< 0.01 |< 0.01 |< 0.01 |< 0.01 |< 0.01 |< 0.01 |< 0.01 |< 0.01 |< 0.01] < 0.1
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PN — & Y] 29 i) E Y] 29 i) =) i) 29 -
LK R 4:46 7:38 7:52 8:07 8:41 8:26 11:20 9:08 11:03 11:40 11:57
R C 24.0 26.0 26.0 26.0 26.0 26.0 28.0 26.0 27.0 29.0 28.0
KR °C 24.8 26.6 24.5 23.7 17.5 20.6 24.7 23.7 23.1 24.0 24.5
TVFEVRUVEDIEEY me/ [< 0.002 [< 0.002 [< 0.002 [< 0.002 [< 0.002 [< 0.002 [< 0.002 [< 0.002 [< 0.002 [ < 0.002 [< 0.002 | < 0.02
DIV RUVFDIEEY mg/l |< 0.0002 [<  0.0002 |< 0.0002 |<  0.0002 |< 0.0002 |[<  0.0002 |< 0.0002 |<  0.0002 |< 0.0002 |<  0.0002 |< 0.0002 | < 0.002
YNV RUZFDIEEY mg/l |< 0.002 < 0.002 [ < 0.002 < 0.002 [ < 0.002 < 0.002 [< 0.002 < 0.002 | < 0.002 < 0.002 [ < 0.002 | < 0.02
1,2-Y"hOAT4Y mg/l |< 0.0004 [<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 |[<  0.0004 |< 0.0004 | < 0.004
MLIY mg/l |< 0.04 |< 0.04 < 0.04 |< 0.04 | < 0.04 |< 0.04 | < 0.04 |< 0.04 | < 0.04 |< 0.04 < 0.04 | < 0.4
F4NEEY (2-TF ATV mg/l |< 0.008 < 0.008 < 0.008 [< 0.008 | < 0.008 [< 0.008 | < 0.008 [ < 0.008 < 0.008 [< 0.008 < 0.008 | < 0.08
Y ynn7 bbb mg/l |< 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 | < 0.01
#ky05-1 mg/l |< 0.002 < 0.002 [ < 0.002 < 0.002 [< 0.002 < 0.002 [< 0.002 < 0.002 [ < 0.002 < 0.002 [ < 0.002 | < 0.02
WER o FE mg/| 3.5 3.5 5.2 8.8 2.6 6.1 5.2 2.6 2.6 6.1 6.1 < 20
1,1,1-k)y0014Y mg/l |< 0.03 |< 0.03 | < 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 |< 0.03 | < 0.3
ML-t-7FLI-FTIMMTBE) mg/l |< 0.002 < 0.002 [ < 0.002 < 0.002 [< 0.002 < 0.002 | < 0.002 < 0.002 [ < 0.002 < 0.002 | < 0.002 | < 0.02
HMEGEL VB ILEES  mg/l 0.3 0.3 2.2 1.5 0.6 0.6 0.6 1.2 0.6 0.9 1.8] < 3
RKEETON) — 1 1 1 1 1 1 1 1 1 1 1] < 3
BEMGU TR — -2.0 -2.1 -2.0 -2.1 -2.0 -2.1 -2.1 -1.8 -1.6 -2.1 29| < -1~0
REXEME &/ml 1 0 0 0 12 16 210 130 99 0 0] < 2000
1.1-4"hORIFLY mg/l |< 0.01 |< 0.01 |< 0.01 |< 0.01 | < 0.01 |< 0.01 | < 0.01 |< 0.01 | < 0.01 |< 0.01 |< 0.01] < 0.1




